Constraint Solvers : Lab 2, Steps 2 and 3 – TO HAND IN
Forward checking with Degree heuristic, Minimum number of color choices

AI Pt 2, Spring 2009

EXAMPLE OUTPUT TO HAND IN:


Demonstrate your program:


A. keeps track of the current color choices for each uncolored territory


B. keeps track of the current number of uncolored neighbors for each uncolored territory


C. keeps an ongoing sorted list prioritizing which territory to color next.


Neighbors dictionary: {'WA': ['SA', 'NT'], 'Q': ['SA', 'NT', 'NSW'], 'T': [], 'V': ['SA', 'NSW'], 'SA': ['WA', 'NT', 'Q', 'NSW', 'V'], 'NT': ['Q', 'WA', 'SA'], 'NSW': ['Q', 'V', 'SA']}


Sorted by number of neighbors  ['SA', 'Q', 'NT', 'NSW', 'WA', 'V', 'T']

STARTING>>>


Territory SA has colorchoices ['red', 'green', 'blue']


Territory Q has colorchoices ['red', 'green', 'blue']


Territory NT has colorchoices ['red', 'green', 'blue']


Territory NSW has colorchoices ['red', 'green', 'blue']


Territory WA has colorchoices ['red', 'green', 'blue']


Territory V has colorchoices ['red', 'green', 'blue']


Territory T has colorchoices ['red', 'green', 'blue']


Colorstochoose list={'WA': ['red', 'green', 'blue'], 'Q': ['red', 'green', 'blue'], 'T': ['red', 'green', 'blue'], 'V': ['red', 'green', 'blue'], 'SA': ['red', 'green', 'blue'], 'NT': ['red', 'green', 'blue'], 'NSW': ['red', 'green', 'blue']}


Inserting Q (3 color choices, 3 uncolored neighbors), same as WA (3 color choices, 2 uncolored neighbors)


Inserting V (3 color choices, 2 uncolored neighbors), same as T (3 color choices, 0 uncolored neighbors)


Inserting SA (3 color choices, 5 uncolored neighbors), same as Q (3 color choices, 3 uncolored neighbors)


Inserting NT (3 color choices, 3 uncolored neighbors), same as WA (3 color choices, 2 uncolored neighbors)


Inserting NSW (3 color choices, 3 uncolored neighbors), same as WA (3 color choices, 2 uncolored neighbors)


Territories sorted by # of choices=['SA', 'Q', 'NT', 'NSW', 'WA', 'V', 'T']


Assigning SA color red


Territory Q has colorchoices ['green', 'blue']


Territory NT has colorchoices ['green', 'blue']


Territory NSW has colorchoices ['green', 'blue']


Territory WA has colorchoices ['green', 'blue']


Territory V has colorchoices ['green', 'blue']


Territory T has colorchoices ['red', 'green', 'blue']


Colorstochoose list={'WA': ['green', 'blue'], 'Q': ['green', 'blue'], 'T': ['red', 'green', 'blue'], 'V': ['green', 'blue'], 'NT': ['green', 'blue'], 'NSW': ['green', 'blue']}


Inserting Q (2 color choices, 2 uncolored neighbors), same as WA (2 color choices, 1 uncolored neighbors)


Inserting NT (2 color choices, 2 uncolored neighbors), same as WA (2 color choices, 1 uncolored neighbors)


Inserting NSW (2 color choices, 2 uncolored neighbors), same as WA (2 color choices, 1 uncolored neighbors)


Territories sorted by # of choices=['Q', 'NT', 'NSW', 'WA', 'V', 'T']


Assign Q color green


Territory NT has colorchoices ['blue']


Territory NSW has colorchoices ['blue']


Territory WA has colorchoices ['green', 'blue']


Territory V has colorchoices ['green', 'blue']


Territory T has colorchoices ['red', 'green', 'blue']


Colorstochoose list={'V': ['green', 'blue'], 'NT': ['blue'], 'T': ['red', 'green', 'blue'], 'WA': ['green', 'blue'], 'NSW': ['blue']}


Territories sorted by # of choices=['NT', 'NSW', 'V', 'WA', 'T']


Assign NT color blue


. . .

Find a correct solution(s):

answerlist: [{'WA': 'green', 'Q': 'green', 'T': 'red', 'V': 'green', 'SA': 'red', 'NT': 'blue', 'NSW': 'blue'}]
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